O OoOJO O bhwWwN —

—_ ot ) )t —
-hCDN—‘O

FHERR

SBAS[a] RS Hh X fz L B3 =
{3—F 17170521 EE%%%
FREHE  Fp29%F8A20R

T REMXELHBEHS

‘iz EAMBRERHES

L hH R ER GBS

Bt EARGESLEELHXS 3—K 172060
BHR HWH Z=Z=(FZwo) BHFEBGIWW)
HREE ULUHHEE
SRR 2016,/08/28
B Z Kz [ KB TE
9:00 =) [FZED 0.4m/sec. 25.5 °C 65.0 %
10:00 =) [Ealid) 1.7m/sec. 245 °C 72.0 %
11:00 =) [Ealid) 1.7m/sec. 26.0 °C 69.0 %
12:00 =) MM 4.7m/sec. 25.5 °C 69.0 %
13:00 =) [Ealid] 2.8m/sec. 26.5 °C 73.0 %
14:00 =) [Ealid] 3.8m/sec. 25.5 °C 68.0 %
15:00 =) [ti] 2.0m/sec. 25.5 °C 68.0 %
16:00 =) el 3.4m/sec. 25.0 °C 72.0 %
ARXETHILINT-50 5%
#H I EF L (FE) g soEx
% F1500m R wBf ZLFQ2) LTAS 45222 |X&$h
R B F0502) LAS 502.75 | K£#h
L FES B R hf FX02) 2 FHRARAC 1.60 KE#H
R IRIE #EEH Q) ¥R 1.55 KE#H
% 5 £400m % = B@E(2) EAREHRZE 51.30 | K£#
¥ e+t B2 Q) EAREHRZE 5492 | K&
B ¥ 1500m R E&JIEQ) THAES 40437 | X£3
¥z FEE Bk R tbEHF 22 2 AAC 5.08 REFH
£ F800m R RIE 5 H(2) LTHERES 22826 | K£#H
= 4% 5B F A .$%(6.000kg) |iR INFR EER(2) rHES 1253 | XK£&#
=B FHER.750ke) 3R it fh(3) AFEBZES 33.90 | K&
ZFEE R INK Z=(3) EAREER 3.50 KEH
5 F5000m R —ifE el ABER 15,05.87 | KE&#




EASERIEH R E ERRRFEAS
T REBMREEZEEGS
®IEE EAMEIERGES LIMEEERTGES

REER—ER
x F [3r#035]) 202060 {EA#EES NEELFFEIS
142 2 i 3L 441 5 fi 6 i 7 i 8 i
A/H i# B B K% R a0 8% R%/FEE i 5k KB R i 5k KB /AR i 5k KB /AR i 5k KB /AR i 5k KB /TR 50 8% R%/FEE 50 8%
08/20 &+ 5. I . . Jit RRX . JT ES . AR . = . HR IR . .
100m =k ANEE .—;& HREE R EAREER = J:Ei.—, i LHE =R ANEE B EAREBR .—;& E]nf\‘:lt.—;
08/20 -2.1 Rl BRAE(2) 26.76/=48 5550  27.31|RE F#& ) 27.61 54 ZREN)  27.89|#EE BEN) 28.36 KIF £E(1) 28.52|FH HAE) 28.76| AL FBZE (1) 29.47
200m = EANEE =% LEfER =k LHE ER-EAREER ER-EAREER =k HREE T8 E*TEH.—; =N
08/20 HiE 5H 2) 2,28.26 ta#t *’Z?—(Q) 2,28.92 Ml =6(2) 2,29.85 HEE 05 (2) 2,30.39 =iF mi&E Q) 2,34.57BH LE2) 2,34.65 % X802 2,35.74
800m = LHERES =k LHS =% LHERES = LHE X-FRitE =8 LHERES = ANEE
08/20 WA RAcF(2) 4,52.22 Atk 0 A(2) 5 02.75 ®EXK EF (1) 5,09.97 il BEAR (1) 5,17.99 BEi&F (1) 5 21.67 %A @F 1) 5,22.23 £ E#H 1) 5,32. 74 lLO #3F(2) 5,45 34
1500m _lgl& J:ml_] rx& J:ml_l _lgl; E'J?'/Rjt_lgl rx& Eﬂﬁ%%& rx& J:ml_] E&LE%@EE rx& J:EEI_] EELEEE
08/20 -4.0 B BT (1)  16.51 R BERX(Q)  17.52KI HAEA)  17.86 /% BIEZE () 19.48 IS XZ= (1) 20.315FK A @) 20.58|fi K AEF (2) 21.57
100mH =8 LEE = J:EFFE.—; ER-EAREER = EEES =8- LETHE =% LHERES EBR-EATRE
08/20 I #BEL(Q2) 1.45 F#E &= 1) 1.45 )1l HBRE (1) 1.40 KL B7HEE (D) 1.40[FAR FEE ) 1.35|8R & #& (1) 1.35 /| iE:F/%(l) 1.30(£% 5052 1.25
E= Bk =k FRILE Bk B AFEFES B EAREER Ek-FRILE =8 LHERES =8%-LtHEE =% LHEES
08/20 R EJO) 3.50
Bk ER-EAREER
08/20 B <o @59(-0.3)[5FK B(2) 4.43(0.0) Mok EF(1)4.27(-0.4) 5iH F=(2) 4. 13(+0. 3) k& HMY (B.90(+0.1)
FENE Rk = ANEE = LHERES = FRILE B -EATRE EE-HRILE
08/20 wiE KEQ) 10. 35 B3 =mk (1) 8.69/#5M EXE(2) 8.66 R £& (1) 805 T EF(M 6. 84
AR —f%-FiR P = AFEFES =-HRLLE =8 LHERES =8 LEFHE
08/20 EO E50) 32.06|H* XE (1) 28.59[/hE X (2) 26. 1638 H# =0 (1) 2.81TF =80 16. 11 k3 6 (1) 15.60 /N¥piE ZFI(2)  13.67
A A% =R EAREER =8- LHERES =k HREE = AFEFES =i EEFE =k AN Ek-FRILE
08/20 Aea # (1) 30.98# =E&® (1) 28.15 "% X&) 26.77 #H E£x=(2) 23.87 [EI§ E£ZE (1) 23.80
U =N =k HRILE =N Ek-FRILE =8 LEFHE
08/20 AENEE 5. M EAREERK 53.73 LHE 54. 28 /NGE 54. 34| FiRILE 56.06 EETHS 56. 28
4x100mR i EAE(1) FiH mAEWM =18 B () FHE B EAREQD) HiR MK (1)
Bl ®RQ2) #EE BE0) RE H#71) BA AE(Q) = miE() FR BREQ
ol meTE (2) Kb FmEE M) HE BRQO) Al A (1) K EF (1) FES 278 (1)
IE <52 #1l #E (1) B ARE (1) R #(x1) Zik HMY (2) BT Z80)
08/20 th¥&ZF -4.0 ®IE 2THTEQ) 13.32/5H tig() 14.05|EA BX(2) 14.33|®hiE EE () 14.39 ##H E& () 14.40|870 3 A1 (2) 14.48 =% R (3) 14.53
100m - EARED FREE- A - EAEMH - EAKETD - EAEMEA sz At e -TRFEA T
08/20 -2.7 [ATE EHEQ)  26.88 I FE(Q) 27.65| K% BEEF () 27.87 = FIR(3) 28.25|HHA tiE() 28.78/%0 AN ()  28.89|FIE (1) 28.91
200m - AR hE-EARERZE - ER A HhEt-TRFE A HhE- A FrEE- A hE-EARERZE
08/20 TR EHQ?) 2,33.33 I KEN)  2,39.06 85K RAENM)  2,39.94 ¥0F RIEQ)  2,40.49 % MKREF(Q2) 2,41.36 /M 3BE(2) 2,52.18/luA FH&R?)  2,52.37 Nk Bz (1)  3,07.83
800m - A F R thE- BFR - EHEZH th- A HE P - AFIE - FEAERH - EA KA HhEt- A
08/20 WA ZE(2) 5 13.29/ &2 5,17.33 | & #51E (D) 5,18.04 Il SFE(1) 5 18. 73 A&ME =y () 5 24.74 #l EE(1) 5568.15 &H# £ ) 6,04.08 EH mMA (1) 6, 16. 50
1500m A FAL - FHE=F - FHE=F - BFR - FIE - EAEMS Hh- R - FHEES
08/20 i #x @) 15.56 BE ®WR () 16.45 HIE ZEE (1) 16.99 3[R HHE (1) 17.82|#aK # () 18.29 %¥H# #£F Q) 18.55| XEE ZE#1(1) 18.86 =+ #i3 (1) 18.99
100mH FhEE - 8234 IRAGAC - ERE—H hE-EAREHRZE Frz- B2 HIRAGAC HhE - DR s - A Ep s BFR EE 552(];‘3
E
M- FAE—F
08/20 A #x @) 1.60[3R1E #F (3) 1.55 @B AREE(3) 1.50 #03% #5(2) 1.35| K& ®mE (2 1,354 =& (1) 1.35|HEoK F0Rt (2) 1.30| & 0% (2 1.25
EERk Frz- B2 HIRAGAC s BFR FhEE - 8234 IRAGAC - ERP - EAEMEH hE-EAREHRZE s BFR Hji£lﬁ;ﬁ—q’
=5 R
- EAE—F
08/20 &kE FEHEQ) 250 5F ¥ 2.40 F#E X1EQ) 2.30 di%F kA1) B EHERG 1.80 Rk e ) 1.80
BaEEk FhEE - 8234 IRAGAC - EAERF FhEE - 8234 IRAGAC IR AR (2) . FRERS HZ- EAE—F
R FLN(Q)  HhF- EAEE—H
08/20 LEEF# Z(2) 5.08(+1.3) FkIE FHE(W.75(+2.8) (£l =F(2) 4.72(+3.0) AR H () 4.36(+2.5) | EF LE(Q2) 4.22(+3.0) | &:A €3 (1) 4.20(+1.9) A & (1) 4. 12(+2. 1) |H#h XM (1) 4.05(+3.7)
FENE Rk Fhz -2 AAC - Ei#/RA&AC fhZE - 8234 IRAGAC - R HhEE - BRI AR -2 AAC thig . 38 1 B o - A EP
08/20 mE #2102 10.98 &Z FA%(2) 8.69 TS & (2) 8.56 ZAIE 3T (2) 8.54 L% Z3L(2) 8. 41 FE HHE (1) 8. 22| HFIE) 1.30 /M EHF(2) .11
LER - EAERG - EAERG - EAEMG - EAEMG - %F]AC hE-EX KR P hE- EHERG - EA KRR




EASERIEH R E ERRRFEAS
T REBMREEZEEGS
®E EARBZEEGES LIHBZEEGES

REEHE-ER
z _F [3r#035]) 202060 {EA#EES NEELFFEIS
1431 2 fi 3L 4 fiL 5 i 6 fii 7 fi 8 fiI
A/H 7 _H BiE K& /B 5% KB FE 5% KB FE 5 % KB FE 5 % KB FE 5% KB FE 5% KB FE EllE 7
08/20 FIRE 55. 55 AR 55. B0 E KEME S 56. 12 EHZE — & 56. T4 EHFEME 56. 89 EHZE R A 56. 90 .
4x100mR s 8% (2) iR R A (1) 2R & Q) EZR ) =i BmEA0) INE HEE (2) il EHE(2) HF RERER (1)
HiE 8 (2) F0O 94h(2) Ml i (1) HE HR () B Bk (2) BT EQ) ¥iE RIE (2) A # )
BRIE D (1) &=H tig() A R L (1) hE KED £% X8 (1) A 4L (2) wiE &2 L sEE Q)
A% BEQD ik 22 M 5EEA0) WE A% ) #E FK(2) HE #3Q2) "HE BREQ) 4t B (2)




zZF

i;% 8H20H 11:35
RA 8H20H 13:35
100m
KEH 12.6
REH 12.75
FiE BBEE 348 0% + 8 0 IBRIEEBE o: %4 LIEEBEE
[ Hﬁﬂ] Jﬁl:ﬁ -3.7 [ Zﬁ] JﬁL:E -2.7
& V- K 4 mRA Bk HE IIE -y K £ mRA Bk HWE
1 4 1308 B FE M =353 14.58 6 1224 =i wiE) =153 14.34 g
w9 Yy EAREER 97 3 FRILtE
2 5 1336 AL A (1) =353 14. 60 2 2 11 £5H BbV0A0Q2) =K 14. 36
WA Tt NG h#A° 3 EF0 ITHES
3 2 1436 /p#k BHEZE 1) BR 14.89 3 3 1414 ERE kF() =15 14.57
anN vy TAh LtHES 4hny T3 LtAS
4 3 1338 |FHE KX =K 14.98 4 5 1334 @A HZE(Q) =353 14. 61
979/3% 1t INEE ¥4 13 INEE
5 6 1418 #F ZE () =353 15.29 5 8 1221 K &E&E() =153 14. 80
b D J:Eilr—: T AR h FREE
6 9] 1339 FE E() =15 15.43 47 1469 =it 45 (2) =15
N 97 933 INEE ¥ay THERES Ri5
7 1335 RE £&() =R 71290 e H BFE Q) =15
Ny 31 INGE Ri5 734 Tt EATRE Ri5
[ 3] & -3.6
& - No. K £ mRA Bk HE
1 8 1275 Ell #E(2) =153 13.35 g
EmRT 43 EMHEES
2 7 1248 Kig 2 (1) =153 13.77 g
THyh 1t HRES
3 4 1415 BRE ZF#EO) =353 13.88 g
MY tES
4 5 1303 :H ZEREN) =& 14.02 g
734 13 EARESK
5 6 1416 He AT (A) =& 14.03 g
4th Bt % tHE
6 3 1305 #AE BEN) K 14.13 g
J3xh LAt EARESK
1 2 1280 HH E&E M) =153 14.25 g
17 Ut EHHE
JEE 5.1
& - No. K £ mRA Bk HE
1 5 1275 Ell #E(2) =153 13.63
Enpy 43 2FHEE
2 6 1248 Kig £2 () =153 14.12
TH9h 1t HRES
3 4 1303 =H ZEREN) & 14.19
734 113 EARESK
4 7 1415/ RE F#EM) =353 14. 32
Y tES
5 8 1416 HF EHFT () =& 14.37
4th Bt % tHE
6 2 1280 HH E&E M) =153 14. 66
17 Ut EFEE
1 9 1305/#EE BE() B 14.73
330 LAt EARESK
8 3 1224 =& il () =2 15.03
395 43 ET,R:H:;—:




zZF

i;% 8H20H 10:05
RE 8H20H 14:25
200m
RH 25.4
REH 25.84
FiE EBEE 2 0% + 8 OCIBLIBERE o: %1 LIEEBRE
[ Hﬁﬂ] EI.JE -0.8 [ Zﬁ] EI.JE -3.0
g V-v K & mER Bk HE IIE b=y mER Bk HE
1 3 1273 ol mEFE (2) =153 26.67 q 4 1535 a2t 556560 B 27.86 q
TN 1 EFES 4y 933 LTHAES
2 8 1305 #AE BEN) K 27.99 g 2 7 145/ RE F#E ) =353 27.91 ¢q
ERVY 262 EAREER 19V H J:EEr—l
3 5 1248 X&E £E(1) =153 28.24 ¢ 3 6/ 1280 HE =ZHE() =153 28.56 ¢
Hyh 1t HRES 17" % EFES
4 7 14719 88 FH () =353 30. 22 4 3 1303 EH ZEREN) & 28.78 q
YR h/ THERES 734 113 EAREEK
5 20 1339 #Im BE(1) =353 31.06 5 5/ 1336 Fil FRZE (1) =353 29.43 ¢
N 97 935 NG WY 11 NG
6 4 1429 tkH # (2) =353 31.76 6 8 1308 #Il FE (1) =353 29.71
35 13’1 tAS a9 )Y EAREEK
6 1333/BH B=(2) =353 20 1469 =it HHE(2) =353
#h4 143 INEE Ri5 ay LtHEAES Ri5
BEE -2.1
IE -y No. K 4 mER Bk HE
1 4 1273 #ub mefE (2) =R 26. 76
THY *}#7] EFES
2 5 1535 51 5650 & 27. 31
4y 933 tHAES
3 7 1415/ RE F#&EM) =353 27. 61
WY+t tAE
4 2 1303 FH Z42EN) =R 27.89
774 113 EAREEK
5 6] 1305/#BE BE() B 28.36
3321 b4t EAREEK
6 9 1248 Kig £2 () =153 28.52
THyh 1t HRES
1 8| 1280 HH EHE() =153 28.76
17 % EFES
8 3] 1336 Fil FRZE (1) =353 29.47
WY 11 INEE




%F
800m

KEH 2,20.5

KEH 2,28.58

g No. K & mER Bk HE

1 9 1472/ AYE =8 (2) =353 2,28.26
9FE Y e LTHERES AEH

2 6| 1430|181 XLF(2) B 2,28.92
9443 113 LtAS

3 3 1470 BN £ (2) =353 2,29.85
sh°9 319 LtHESES

4] 4] 1428/ A FUVA(Q) BK 2,30.39
kE® to tAS

5 2 1224/=:F xi\E() =153 2,34.51
395 b3 FRIS

6 T 141 BEH £LEQ) &K 2,34.65
4 F13 LtHEAES

1 5 1278 ¥ =& (2 =153 2,35.74
3744319 AEFES

8 1M3KkE BEEF(N) &R

94 v13 tAE Ri5

[(REE

'8H20H

[14:00 ]




%F
1500m

REH 5,06.58

g No. K 4 mER Bk HE

1 7 1430|188 XRF(2) =R 4,52.22
9iL3 +13 tES AEH

2 1 1428 HEE F0V0AQ2) =& 5,02.75
kE® to tAS A=#

3 4 1222 "ok EF(1) =153 5,09.97
94 33 FRIS

4 9 130714 FHA M) =353 5,17.99
+h¥y bt EARESRK

5 5/ 1413k Ef&F (1) =& 5,21.67
94 v13 tAS

6 8 1478 ZH #F (1) =353 5,22.23
Jhy 743 LTHERES

1 2| 1435 E%F ZEH£ () =353 5,32.74
91/ 31 LtHES

8 6/ 1531 LA #3%2) =353 5,45 .34
™I F 4% tETES

3 TA2[ARE () &

YL ) +tHEE Ri5

[(REE

'8H20H

19:00 ]




zZF

100mH

REH 14. 4
KEH 15.65
AE 4.0

J§] -y No. K £ mRA B RE

1 1 1416 Bf ARE () &K 16.51
4th B % tHE

2 20 1488 FH BEXQ BR 17.52
by 313 LHAFHSE

3 5/ 1306 KL FHEN) =& 17.86
MY /8 EARESK

4 6 1436 /p#k BHEZE (1) B& 19.48
N Ay TAh tEES

5 8 1489 mEIE =2ZE(1) =R 20. 31
sy LHAFHSE

6 3 1468/5F5K B2 =R 20.58
Y3z~ ab TtHERES

7 4 1291 %K BE (2 =R 21.57
AR E 798 EATHRE

[(REE

'8H20H

[12:30 ]




zZF

4x100mR

REH

Al

RS

49. 61

No.

&/ w5

& v-»
1 7

ENEE
17435 29

1280
1275
1273
1274

E %
i mE (1)

17 Ut

BNl #EQ2)
EonT 45

UL BXTE (2)
TPV #3h

TE <52
¥y #937

51.71

EARESR
#9F39¢4392

1303
1305
1306
1308

FH EREN
T34 113

HEE BEW)
3370 AT

Kl BuE)
EF Syl

#h1 FHE 1)
vy IRL

53.73

EAE
14" 19

1414
1415
1418
1416

B k¥ (1)
a0y 3

RE Q1)
MY 7t

WE ERWM
th ¥Hh

He RE#E (1)
ath hY %

54.28

INEE
J%A

1338
1334
1336
1337

FHE K1)
/3% 1f

A BXEQ)
Y4y a3

ful A (1)
AT Tt

KA 8 (1)
1354 hit’

54.34

RIS
/4 7%439

1221
1224
1222
1239

BA EEWM
IZERIN)

=@ i (1)
97 EhS

"k EF (1)
924 31

2k HnY (2)
TN 9 ThY

56. 06

EEFEE
I8 F939

1491
1488
1489
1490

1R MK (1)

Z AR
PR BEXQ2)
1M 333

mEe =% (1)
Ly Y
BT Z50)
VAEVYZ I

56. 28

LHZEAARS
9I5 Y REhIY

Ri5

[(REE

'8H20H

[15:40 ]




A
47_Fj-F FE 8H20H 10:35

700/]] E3 8H20H _ 13:25

K= 12.79
FiE BBEE 64 0% + 8 0 IBHIEEBE o: %4 LIEEBEE

[148] & +0.2 [ 2481 JEL:E 3.0

I& b=y No. K % 7] %, B IIE b=y K % 7] %, B

1 9 4410/fm & & (1) R 14.97 2 4279 A & () =] 15.56
5 F EEREET Y& ) AV HAHEF

2 7 4407 HE BE) h 15.16 2 8 M112F/E FE () h= 15.80
w5 bt EHEES W #H ERAE

3 4 4074 ﬁ%"‘fi %ﬁ M % 15. 84 3 4 4648 % =mk(1) iz 15.84
1IN 3y iR 9I) % FAZEmE

4 8 4677 'F.% {*ﬁ(ﬂ iz 15. 85 4 9 4124/ NEE B (D) % 16.54
YEY' Y hAZ THERSP T4ty 31 HRiA

5 11 4311811 FEZ (1) % 16.13 5 3 4127 iR ®\BFI(1) |F 16. 57
b0 744 Rt 40 45) A

6 6 4647/ FI FE1) iz 16. 42 6 5 4112 #iE I (2) % 17.58
(9% ToF N:: ol YH$T 33 oA

1 5 M1 EH EHA) h 16. 53 1 7 M28|=e 1.‘§ﬁ M % 18.35
794 1% EHREES SUREVE: A

8 3 271 8 FEQ =z 16. 55 1 33 LB ER(Q2) %
VL) HAEF 9/ 741 ZAAC 35

9 2 4678 dLE A () 16. 68 6 4655 54 BE ()  FF
Y0 4% I3 L5 U4t tEgmE R®35

[ 3%] & -1.8 [ 4#] JE 1.2

I& b=y No. K % 71 B wE | E -] No. K % 71 %, B

1 8 4408 =&y mARFEN) |F 15. 01 1 3 MT73EE BB (D) = 14.47
7 JIn HHEE D4ta" t EAHE

2 4 4654 58 B () iz 15. 08 2 70 4571%A L) h= 14.72
50y U N:: ol Sr9F 14 EAEM®

3 7 4675 FHE BHFM) iz 15.18 3 5 415485 K X&) h= 14.96
12! LTHERS AR F 74 R ERES

4 5 4690 f2MA % (2) iz 15. 31 4 6 4689/ k 1EE (2) R 15.33
295 T4 LTHERS nwry ¥55 LTHERS

5 1 4676wtk BE() 15.49 59 43128RE () @ 15. 36
hnty %39 EEEHEd® R EE

6 3 4079 k<K FMA) |hF 15. 56 6 2 4409|pTER ALEE (D) h 15.36
#94 70% iR o A TH EEREET

1 2\ 4153[1luA F& 2) = 15. 67 1 8 4 EZ XM % 15. 41
1R F7 ER R AR AT NF ZAAC

8 0 4686 BE ME(Q) @ 15.92 8 4 4688 /i 1A(2) s 15.83
T4 F MI LTHERS vy pIT LTHERS

9 6| 4272|H) BEHE(2) = 15.96
117 14" % e

[ 58] i -1.5 [ 6#] & 0.8

I& b=y No. E % 71 B wE | IE -] No. E % 71 %, B

1 5 4130 ®FE HIE(D) R 14.02 g 1 9 4030/mTH EHTEQ) HF 13.11 g
744 7 EAEMS 5 /A 1E A 3geh

2 8 4110%0O H#N(2) mHFE 14.27 q 2 4 36/ LLEF E(2) % 13.36 g
/9% A3b f5A 54 Yy ZAAC

3 9 4325|%u5 #F (2) % 14. 30 3 8 4125 FH ti#&E) % 13.73 q
£ 74 B R EDZMRIE A

4 7 4078/=1E E (1) % 14.52 4 5 4669 He B (2) iz 14.00 g
954 14 iR o Bh #3 tEgmE

5 4 M1 EE RZQ % 14. 69 5 3 4644 A FK(2) iz 14.09 g
NV A e w5 tM LTHEMmG

6 2| 4304/ BmM(2) i 14. 80 6 7 5=k R Q) % 14.10 g
5945 tFh INER WhY 3E TEFEATE

1 6 4273/¥nE RETE (2) iz 14.82 1 2 4687/ AT FE2 iz 14.28
P47 799 HAEF 1995 Y1) LEEHS

8 3 415227 HEQ s 14.94 8 6 4601 HIE BW(Q) @ 14.53
SRR EA M YHE 4D 19 I3




HELF
100m

AE -4.0

I& | b-Y | No. KE 4 R4 E - g

1 5/ 4030 BTE EJHTEQ) |HF 13.32
NI /% {EATEH

2 1 412558 €' ) Hh 14.05
EVV VI HA

3 6/ 4669 HA BX(2) LS 14.33
ath #% LHREMmP

4 8| 4130 iR EIE(1) Hh 14.39
T4 ¥ ERER T

5 9 4644 #E FK Q) LS 14.40
w5 A LHREMmP

6 20 110 O 9H#N(Q2) |[HRFE 14.48
/0¥ A3 HA

7 3 5@ IR (3) £ 14.53
Y AR'3 T8FEA T

4 36/ LEEF E(Q2) Hh

£5 4 Yy ZAAC Ri5




HELF

ii% 8H208 3755
By 8H208  14:20
200m
K& 25.57
FE BREE 248 0% + 8 OIERIEBBRE o: 24 LIEBEE
[ 18] Jﬁl@ -2.1 [ 2481 Jﬂg—m
& -y E % R £ BE IIE = E % R 55 WE
1 8 4310 XExFx BEFED g 28.25 ¢ 8 4030 BTH EHEQ) ®F 26.79 q
142 $h4 ERES Iy A/ EATEF
2 9 4125 &H 15(1) Fhg 28.62 q 2 4 4364 Il FFE(Q) mhig 27.58 ¢
V8 3 A W9 ¥ EARERE
3 3 4110 B0 TJ'J%*L (2) ®Z 29.08 g 3 2 5=k R Q) mhig 28.69 ¢
I0F A A WEY A TEFERE
4 4 18]1&18 _E(Z) thig 29.48 ¢ 4 6 4368 HIE ZE(N) mhig 29.11 ¢
$1$ 3N 3 RAGAC 53 749 EARERE
5 7 4111 Xk 22 Fhg 30. 62 5 9/ 4076 KR =#(1) g 30.35
LY 1y A oh < FiR G
6 20 M477Nn €Ew mhig 31.30 6 5/ 4072 £2 XL (2) g 31.98
1717 +13 TE ks YFt N iR e
1 6/ 4151 IJ\M EEFQ) dhz= 31. 61 1 3 M153 WA F&2) mhig 32.29
Wty 33 TE ks ¥ F7F A RS
5 22 REA =Xx(Q) s 74642 MR BEQ) B
I 4 3 HEAN -4 Ri5 Wi 7ot tEgmE Ri5
R
BE -2.17
I& b-2 | No. E % R 55 WE
1 7 4030 mTEA EHTEQ) HFE 26. 88
Iy kI EATEF
2 6 4364 )1 BHE(Q2) mhig 27.65
W9 7ot EARERE
3 5/ 4310 X&Fx BE&F (1) g 27.87
AT $h4 RS
4 8 5=k R Q) mhig 28.25
DEY 23 TEFERE
5 4 4125 FH tE0) Fhg 28.78
38 3 A
6 9 4110/ %0O TH#NQ) wHFE 28.89
0 F A3V A
1 3 4368 FE Z{E(1) mhig 28.91
53 749 EARERE
2 18 4kfa =E(Q2)  he
¥1¥ N B 3 RARAC Ri5




—4
HhE T B3 BA20H 13501

800m

N30 2,25.4
RKEH 2,27.40
g No. K & mER Bk HE
1 11] 4461 T+ EmR (2) g 2,33.33
YELT Y1 AFHF
21 100 4075 Il EFE ) g 2,39.06
147 134 iR
3 3 4600 #iAK FE() iz 2,39.94
AR+ LHEE=-+
4 11 4273 #iE RTE () R 2,40.49
TH 47 I8 HRAS
5 2| 4503 #% BERE (2) iz 2,41.36
WY I1h AFE
6 6 4689 /M FEE (2) rhig 2,52.18
R VESP) LHEARS
1 5/ 4153 LA F& (2) g 2,52.31
™y F74 A EME T
8 4 M24 Nk B (D) % 3,07.83
IRAVIKYS? A e
7 4645 EFHF mwA (1) rhg
534 3tk LHEEm™S Ri5
8 4677 TB EH() rhig
YEY' Y hAL LHEERS Ri5
9 4649811 EZE(1) rhg
rikED LHEEm™E Ri5




Pt
1500m

I No. K 4 mER Bk HE

11 15] 4500 %A = (2) % 5,13.29
¥9F Ith AFIE

2| 16 46348 ¥& () ¥ 5,17.33
XaNALS FHE=

3| 14 4635/ FE% #E7E (2) % 5,18.04
#4b 14h LFHRAE=

41 13 4075/ SEFEM) % 5,18.73
1Fh7 13 iRt

51 17] 4501 ARHE FH(2) |[&%F 5,24.74
bR 95 AFIE

6| 18 4649/#Il EZE(1) ¥ 5,58.15
hontn w3k LTHEMmG

70 11 4077 &£# &) % 6,04.08
htd 39y iR

8| 12 4645 FFF mmA (1) iz 6,16.50
934 3tk L HEEmS

[(REE

'8H20H

19:00 ]




—4
HhE T B3 BA20E 12101

100mH

REH 15.16
[ 148] EI.JE -4.1 [ 248] RZE -2.7
g | V=Y K £ mER & fmE IE L-v No. K 4 mER Rk HE
1 8 4076 KE ZF0) g 18.86 1 2 19/ het #3x£Q) rhig 15. 56
Th 3t iR 1F47 743 EEFHIRASAC
2 5 4154 &K XF () mhig 19.29 2 3 4597 BE HBE () rhig 16. 45
AR F 7Y% A EME S 4t 43 LHEE—F
3 9 MT3EE BHA() rhig 19.55 3 5 4368 FlE Z{E(1) g 16.99
D5FA" k) EAR FhY° Y 74h EARE
4 6 4312 fRIF OEE(D) & 20. 48 4 4 16 kR FHENA) [t 17.82
149 h 319 FRS 93 177 B2 HIRAGAC
5 1 4152 2R &%E Q2 rhig 20.59 5 9 4306 #aA B5 (1) Fhg 18.29
Y4 3 R ERES VLIRS INEE A
6 3 4159 #&E mMEN) mhig 21.37 6 6 4270 R/FHF BREF Q) rhig 18.55
33t hin EAER S 844 yanh ke
1 7 4127/ HiR BEFI(1) HF 22.43 1 7 8812/ &+ #EWM) rhig 18.99
T 7 #3Y A F NIVIVEY) LHAE—F
8 4 4311 B EZ (D) g 23.29 8 1 8816/ lUA FAEN) mHFE 18.99
W T ERm Y8 113 LHAE—F
9 2 8811/H#HL EF(M) rhig 26. 28 8 4310 K&F BE& (1) g
1791 NV LtHE—& 1) ¥ ERm Ri5
L F
100mH
AL LL—X
JEBL] No. K 4 AR T 5 il £ B (B | ®E #8 [NEfL
1 19 H#t #x£(2) g B2 HIRAGAC 15.56 (-2.7) 21
2| 4597 BE BE (2 iz LFHAE—F 16.45 (-2.7) 2 2
3| 4368|diE ZEE(1) hE  EAREGE 16.99 (-2.7) 2 3
4 16 3kE FHEA) iz EEFHIRASAC 17.82 (-2.7) 2 4
5| 4306 #aAK #5 (1) iz INER 18.29 (-2.7) 2 5
6| 4270 RH BEF Q) iz HERF 18.55 (-2.7) 2 6
7| 4076 X ZF (1) iz iR 18.86 (-4.1) 1 1
8| 8812 =& #HE(X) iz FHE—F 18.99 (-2.7) 2 1
8| 8816 LA FE4<E() iz FHE—F 18.99 (-2.7) 2 8
10| 4154 &K X&) iz EAERREF 19.29 (-4.1) 1 2
11 473 %% B () iz EAR 19.55 (-4.1) 1 3
12 4312 8RiE &5 (1) iz ERm 20.48 (-4.1) 1 4
13| 4152 €8 BHE () iz EAEREF 20.59 (-4.1) 1 5
14] 4159 #E ME(N) iz EAERREF 21.37 (-4.1) 1 6
15] 4127 /#FR &HEF1 (1) iz F5A Fh 22.43 (-4.1) 1 1
16] 4311811 EZ (1) iz ERm 23.29 (-4.1) 1 8
17] 8811 H# L EEF() iz LFHAFE—F 26.28 (-4.1) 1 9




—4
HhE T B3 BA20H  15:30]

4x100mR

N30 52.6
REH 53. 56
[ 148] ) [ 248] )
§ -y mE& No. K £ Bk HWE IE - FIRA No. K £ B HE
1 5 A 4127 &R HEHI(1) 55.80 1 6 ERm 4325 #EiE f8F (2) 55.55
tha' 3 biaVEST) TINGFa9 £ 74
4110 %0 3402 4324 #iE #H(2)
9 F A3V YHE 47 EI
4125 =M@ ti\ ) 4312 fRiR S (1)
EVZ IR 149 h 319
M1 wKik 2Q 4310 KF BE()
INVIY, 1Ty 4+
2 6 {HHESPA 4272 Wl ERE (2) 57.32 2 2 EAERSH 4152 ZH B%E Q) 56. 12
139¥19 1Fh7 hh°Y) $ITHIF2Y Y4 39
4273 ¥piE RETE (2) 4147 T i)
49 79h 1F47 113
4274 g Q) 4157 | ()
THH LY 4r9F 14
4270 HRH# BREQ) 4130 ®iE BEE)
444 Yah THE T
3 7 INEEG 4307 HH Rk (1) 57.99 3 3 EAEE—4% 8812 =& $*1m(1) 56. 14
JEALL Y 7Y IR ¥ 9184 44F 3367 ¥ 1t
4306 #AK By (1) 4597 BE HBR(2)
ho7E R ant 143
4305 EELL FNZEE(2) 8814 thE £KE(1)
Y FHY Thy' ¥ Yah
4304 b+ &M (2) 8816 WM FAaE(1)
3545 tth 38 113
4 3 HEEERH 4407 A BEM) 58.05 4 4 FHAFEM@EH 4654 =5 BXE() 56. 89
WA w8 Lt 914 5 43vF19 Ahny 1+
4408 =85 FAREN) 4669 He Bk (2)
37 7/n 4th %
4410 Bpeh &3 (1) 4648 L% ZEmx (1)
7¥th 91/ %
4409 [FAIER #L4E (1) 4644 #HA FK(Q)
A TYh Yy 1H
5 2 fHXA+$B 4277 #m@E &) 59. 81 5 5 EFHAERFA 4689 /K 1EE (2) 56. 90
134719 155 nbh 91584747 F19 vy 37
4276 Tk xR (1) 4687 AT FE(Q2)
WAy Ik 17948 91
4278 HE # (1) 4688 /MK #E(2)
NIy #5 vy Iy
4279 WE BEE 1) 4691 #iE &R (2)
96 vt 47 19
4 EFHRFERFB 4675 HE BHF M)
91584743 F19 S Ri5
4690 f=ME % (2)
795 T84
46717 'F.% EHE Q)
YEY Y HAZ
4676 Mk AHLE (1)
hon ?/ Fa9h
PELF
4x100mR
F2ALL—R
N {2 mER HERFE & wE -5 -1 5 -2 -4 -3 54 #H [ IEfL
1 &E 55.55 G mEIQ)  HE #HQ IR DEN) KF BEW 2 1
2 A 55. 80 iR #%EF () O ¥4 Q) EH £t () ®Higk Z(Q) 1 1
3 EREMES 56.12 ZA BEQ ™l EEJ) (TR pnd) ®E EEA) 2 2
4 EAE— 56. 14 M #HE(1) BE BEQ (8 kxE(0) (WA F¥LEMD 2| 3
5 FAEMmH 56. 89 = BE0) HAd %K E% EE(0) #MEA BFKQ) 2| 4
6 EHEERFA 56. 90 Ik BEQ) BT EQ N #RL(2) iz BN 21 5
T/ EBA 57.32 il EHRE Q) #E REQ) #E EQ) ZH BEQ 1 2
8 /NEEER T 57.99 HH RE®HEEA) MK 850) FEL FIZE(2) dbFt BEm(2) 1 3
ELES: S 58.05 A KRN =& HFLEW B FEA)  RER ALED 11 4
10 #{X HFB 59. 81 A ZEA) AL TONET 10 MIE B () 1 5




XF B3 SH208 905 ]
el
EmBk
=i
AL 1.68
L B Fon - E % FEL 1m15 1m20] 1m25 1m30] 1m35| 1md0] 1md5 1m50 w5 EE
1 7 1238 183 #BEQ) B N R N R
g 1338&'}%% ;|_Umrt(1> ﬁ';{i:ﬂ’,ﬁ X0 X0 XXX 1.45
2 FHE KR =154 N
i o e X0 X0 XXO XXX 1.45
3 6 1381 )| BES B - -
ﬂiuﬂ i - 0 0 X0 XXX 1.40
45 1306 KL HHE ik -
- m?,g 7 R e map X0 0 X0 XXO XXX 1.40
53 1221 BA =B B -
6 4 1 % T
;;ZVHH ; B sgs 0 0 0 0 X0 XX 1.35
71 WMTHT BERd Bk
;?W W e 0 0 0 X0 XXX 1.30
§ 2 1431 %% 505Q B _
A 31 £F0 rEES 0 [X0 XX 1. 25




XF B3 SH208 [ 930]
el
=
FFE Bk
ML Bt Fon - £ % B 3m40] 3m50' 3m60 2 f‘fﬁ
171 1300 ik E (3 =i
I ¥y b Eagmmy 0 X0 XX 3.50 ™=




zZF B SANE 550
TENGEE
H.
K2 5.27
B RE - B & RS e e - e mE @E
1 5/ 12714 £ =< 5(2) =2 X X 4. 40 4.59 X X 4.59
YFY #93 EFAE -0.9 -0.3 -0.3
2 41 1468 /K B (2) =2 X 4.3 X 4.06 4.43 X 4.43
Y¥IAT ab THZEAES -1.1 -0.9 0.0 0.0
3 31 1222 HEk EF (1) =2 - - 4.27 4.12 4.02 4.05 4.27
924 Y3 FRIE -0.4 -0.7 +0.7 -0.5 -0.4
4 20 1290 s H B Q) =2 3.94 X 3.85 X 4.13 X 4.13
734 7Ut EATRE -1.1 +0.2 +0.3 +0.3
5 11 1239 =%k HHMY (2) =2 3.64 3.90 3.69 3.4 3.73 X 3.90
U Y 7hY RIS -0.8 +0. 1 -0.8 -0.6 -0.1 +0. 1




zZF

(REE [8BH20H  [13:30]
AR
REH 13.01
R
J||.E1f'1l. Eﬁ% 7‘1’(\)‘8; ichS u;ér: (34;5 —fi% s 10_ 13_5 9_ 29_9 9_ 36_6 9_ 42_9 9_ 55_7 9_ 66_9 f)aii "
2 4] 1383 ‘éy;éﬁ;m gigﬂF 8. 69 8. 29 8.35 7. 79 7. 91 7. 99 8. 69
S| 5 1231 QEE’% @ %E@ﬁﬁﬁ% 8.58 8.42 8. 51 8. 66 8.48 8. 55 8. 66
4 3 146 ;}J’é; ggm gékﬁ 6.81 6. 91 7. 75 7. 15 8.05 7.08 8.05
S 2] 140 Q%E%gm _J'%’:_E’l%%%\&% 6.32 6.30 6. 61 6.81 6.84 6.49 6.84
AEVZ I LATHE ' ' ' ' ' ' '
1 1244 NE £3E(2) =R R1B
1543 Y FREs




B3 8H20H 915
AR
KL% 39.33
R B
B B B T e
2. 5 1476 iJ;‘iﬁ?- ;?ET(U %%«EEEK ;) 2859 0 ;) 0 0 28. 59
3 6 1244 ?J?T;;é%m g‘%%ﬁﬁg 26. 16 0 0 0 0 0 26. 16
4 4 1383 ?é;f;éﬁm gigﬁﬂ o 22.66 0 X 0 2281 22. 81
5 2 1490 g%sg%m %E%%ﬁﬁg 0 15. 68 0 16.11 0 o 16. 11
6 3 1372 %g/?ﬁﬁig) 'J%:'E:%:FEE X 15. 2% 0 o 15.60 | 0O 15. 60
771 1240 Z@;;’Q%%ﬁ(b zﬁﬁm 12.05 ;) X 0 ;) 13.67 13. 67
/49 74Y FiRltE ) ) )




zZF

(REE [BH206 ___[11:40 |
KEH 42.33
J||.E1f'1l. Eit?% 7“/1%‘3—7 . HELE%U % - FiE4 -1- ] -2- | -3- | -4- | -5- | -6- | ECf%F iw&
i =12
I 1;7” 7;’/57(1) IhEx 0 0 29.81 30.98 0 0 30.98
EH% B
i 1335%%5”@(1) E%;Rdt.a, 0 0 2617 0 2815 0 28.15
7 X B
N5/ 31 ',]'\;g 0 26.77 0 0 0 0 26. 77
4 2 1237 #@ EZ©Q aiR
1 1439%% gwm %?;ijﬁ 23.79 0 0 0 23.87 0 23.87
TS EZE =1
il EBH‘—ETE.‘ 23.80 0 0 0 0 0 23.80




Pt

R 8H20H 1 9:05 ]
el
=
Emk
RE#H 1.53
| g N - 1m05| 1m10| 1m15 1m20| Tm25 Tm30 1m35 1m40 1m45 1m50 -
J"E{ll- uit?i ) K % FEE% 1m55 1m60 1m63 naﬁi {ﬁ%

114 19 HH BEQ) i S T - - 000 e KREF
1FL37 743 B HIRAGAC 0 XX0 | XXX :

2 11 4087 iRiR #E (3) e - - - - - - - - 0 X0 1.55 RE#H
a4 h/Y iR XX0 | XXX .

3 12 15 @A RAE Q) i - - - - - - - 0 0 0 1.50
Ty %% B HIRAGAC XXX :

4 13] 4324 MN:E 5 (2) o - - - - 0 0 0 XXX 1.35
P35 90 £1 EE :

5 10 4666 KiE #HE (2 Hz - - - - 0 0 XX0 | XXX 1.35
% 2y L HEM™AP i

6 8 4370 1rE HE) ek - - - 0 0 XX0 |XX0 XXX 1.35
st b A B .

1 4| 4070 FéEok F00t(2) e - - - X0 |0 0 XXX 1.30
9A4 Tht iR '

8 5 4596 B35 & (2) ek - - - - 0 XXX 1.95
A AN tHRE—F )

8 7 813 mF &2 Hz - - - 0 0 XXX 1.95
573 ) tHRE—F )

10 6 4270 &3 REQ) 2 — -0 X0 X0 XXX 25
344 Yah AP '

1 3 4641 =#h E#(Q2) Hz - - 0 X0 [ XXX 1.20
NEVEY ] LtHEEMmH )

12 1 4652/ RE #&E (1) Hz - 0 0 XXX 1.15
%) LHEmAF '

13 2 4675 BE BAF() Hz 0 XXX 1.05
T 743 tHEERS )

9 4595 A ET(2) Hz - - - - XXX

4hF 14/ EARE—F




ol (REE BH20H [ 9:30|
75 Bk
R B
W EhE on - E % PR 1m60/ Tm80’ 2m00| 2m20] 2m30] 2m40] 2m50] 2m60 w5 mE
7 14 %ﬁa;ﬁfﬁﬂm g;m&m - - - - X0 0 X0 XXx 2.50
2 6 4687 ﬁj; 3%2) jﬁ%i o - - 0 0 0 0 XXx 2.40
0 MEe 5 5 AsAC S R A L i L 2.30
4 2 4678 igfquﬁfm i§%£¢ 0 0 XXX 1.80
VI < SR
4 8 4599 E@Z’g}(m j';;%,_q: 0 0 XXX 1.80
73 8810?;5&7];2%@(1) fiﬁ_q: 0 X0 XXX 1.80
18815 Hi =& (1) i XX
p2RY Fauh ERE—F




FXF B3 BE208  12.30]

fﬁm%’

REH 5.06
IEGRL B fon - K 4 ik -1- -2- -3- -4- -5- —6- FOER iwZ
1 22 36 tEkEF E (2 hg 3.35 X 4.89 5.08 X X 5.08 | K&#
£ 4 Uy ZAAC +2.9 +1.6 +1.3 +1.3
2| 23 16 3kE FHEN) thig 4.17 4.75 4.31 4.62 4.07 4.7 4.75
w3 /)7 B FHIRASAC 0.0 +2.8 +2.0 +3.2 +2.4 +1.8 +2.8
3 19 18/&18 =% ) rhig 4.66 4.72 4.50 4.37 4.59 4.59 4.72
#IF YN B FHIRASAC +2.3 +3.0 +1.2 +2.9 +4. 4 +1.8 +3.0
4 18 407824 E () =)= X X 4.22 3.85 4.36 4.22 4.36
95% 4 iR +1.7 +2.5 +2.5 +1.5 +2.5
5 20 4392 £% L= () g 4.19 2.67 4.22 4.17 4.01 4.15 4.22
91/ a7 AR +2.6 +2.3 +3.0 +6.0 +3.9 +3.7 +3.0
6/ 17 MER EE) =)= 3.817 4.17 4.15 X 4.20 X 4.20
AN RY Nt ZAHAAC +4.2 +4.0 +3.8 +1.9 +1.9
7 70 4407 /4E BE 1D =)= 3.91 3.56 3.24 3.86 4.12 3.79 4.12
w9 L EXER +1.2 +2.9 +4.2 +2.5 +2.1 +1.3 +2.1
8| 15 4276 &k =R (1) =)= X X 4.05 X X X 4.05
Iy Ik HA RS +3.7 +3.7
9 21| 4322/ BB X% (2 =)= X 3.90 X 3.90
SR FlRe +1.2 +1.2
100 14] 4147 w0 €8 (0) g 3.79 3.70 3.85 3.85
1507 113 EAERMF +3. 6 +0.8 +2.5 +2.5
11 8 4157 TR L) mhig 3.81 3.75 3. 81 3. 81
49F 14 EAERMF +3.2 +1.9 +4.1 +3.2
12 9 4502 Fith FEQ2) g 3.81 X X 3. 81
IVl 33 AFI +3.7 +3.7
13 6 417288 FH0) mhig 3.79 3.55 X 3.79
TV F4 EAK +2.6 +3.2 +2.6
140 13| 4274 #niE 7% (2) rhig 3.64 3.73 3.65 3.73
HH LY A ES +3.9 +2.7 +3. 1 +2.7
15 5 4409 BrIER *LEE (1) Fhg 3.49 3.46 3.44 3.49
AT TYA RIEEE S +3.9 +2.4 +3.5 +3.9
16) 12| 4690 t=@ ZE(2) =)= X 3.44 3.49 3.49
795 714 LTHRERS +2.6 +2.6 +2.6
17 10] 4159 #E ME(1) =)= 3.31 3.28 3.40 3.40
33t hin EAERRMF +2.4 +1.8 +2.2 +2.2
18] 11| 4408 =&s HARE() Fhg 3.40 X 3.31 3.40
Ry ///\ S +3.6 +4.7 +3. 6
19 2 4128/ =g f ﬁ(1) =)= 3.34 3.27 3.31 3.34
H2ki 1x ¥ A Fh +1.9 +3.6 +2.0 +1.9
20 4] 4651 i@ (M2 (1) rhig 2.88 X 2.78 2.88
1F5 12 LTHEMmG +2.3 +3.9 +2.3
21 1 4073 FHiR¥E~4 (1) g 2.82 2.81 2.82 2.82
TV49 W iR +2.6 +2.6 +3.7 +2.6
220 16 4152|2 R BE Q) R X X 2.82 2.82
% 39 R ERES +2.1 +2. 1
3 4410 B & (1) h Riz
740 €t REEREERS




gL F

RE 8200 [10:30 |
R
K25 11.72
R B
JILEﬁ*]L EK% 7‘1’(‘5‘9_1 mE EESJE?J (2? e s 10_ 17_0 10_ 21_5 10_35_3 10_49_8 10_54_1 10— 65_1 133?8 v
2 1 46862;&3}3;(2) iE B _ _ 8.29 8.49 8.28 8.69 8.69
s i, . . . . .
3 12 4640%/%717—\&) jﬁ S 8.31 828 856 816 841 803 856
4 10 4668 Bk F#E(2) EL
s wliBne BTl ke i e e
H’.I,/, ‘TQ;E(U %?HA . . . . . . .
(e Bae - mmoman
AN ¥y %39k J:EE%HEEF ' ' ' ' :
8 5 4151 ;J,‘\ﬁﬁg?@ E%%W 6.95 7.11 6.89 6.19 7.17 6.84 71.17
9 8 4594537?”»%%(2) j';m% o 6.54 7.04 X 7.04
0 1 43077@%'15;&;%3&(1) ;T\i;:ﬁnh 5.31 584 6 21 6. 21
L .
B3 a2 A BE $$§¢ — 5.78 5.78
PR 3% A ch ' '




	表紙
	決勝記録一覧表
	100
	200
	800
	1500
	100H
	400R
	中100
	中200
	中800
	中1500
	中100H
	中400R
	HJ
	PJ
	LJ
	SP
	DT
	JT
	中HJ
	中PJ
	中LJ
	中SP

